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o P I F A [ 59 Je7-9H § GRT g 16 7o 597 20 &)

Please make sure that the printed pages in this question paper are 16 in number
and it contains 20 questions.

o Jo7-7H ¥ e & @ G RF T8 FS T Tl § H OH FI-Yikaw F FEI-g8 9T
gy

The Code No. and Set on the right side of the question paper should be written by

the candidate on the front page of the answer-book.

o FYI FIT P TV VG @ FXT @ Yew, F97 F HHH ST [orad

Before beginning to answer a question, its Serial Number must be written.

o FUT-YitaHE & = H @l §,/9 7 881

Don’t leave blank page/pages in your answer-book.
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o FTT-GRam & SRFT FF T A T& Al g sraeaEdgar & @ G fiar Faw T
#IC]

Except answer-book, no extra sheet will be given. Write to the point and do not
strike the written answer.

o GUErEl YT Ut To FHT-TH §T HAvq frd) Ul To & SHARFT FIT-YH G T FT W 7
frd Giie 9% 5971 %GRl G Fbdl FEIT T 9T T A
Candidates must write their Roll No. on the question paper. Except Roll No. do not
write anything on question paper and don't make any mark on answers of objective
type questions.

o U o7 % IV 37 @ §d 98 GhAlEd T o [ G97-v4 {7 T @& & Yher % ST 59
T 7 g 4 qrar w&hHe T8 RAr aam

Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

G 39T -
(i) & 7T S 8
(i) TE% F97 B 3% IqD GIHT 0T T 8
(i) o7 T 1 F GFE (i - xv) TGS JBX % J97 &1 J9% F97 1 5% & 81 [orid el
FY 7Y Fae-Ghamr 4 e 8

(iv) 597 @@ 2 @ 9 % Iy FTIT 597 &1 JA% 97 2 o/ BT &1 JA%H J97 F FaT
TTHT 30 %] 7 Fforq

(v) 597 & 10 @ 17 7% TG FTGT Jo7 &1 T9% F97 3 S B &1 JA% J97 F T
TTHT 40 =) 7 Fforgy
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(vi) 97 & 18 § 20 T& §H FTNT F97 &1 9% FI7 5 E F &1 F9% F97 F FAT
TTHT 70 = 7 dforw

(i) F97-97 F 77 @7 @ FF [Qaey 7 & @t 5 w4t d¢ g g9 §
STIRE FI7 F&T7 97 77 81 88 g971 & @ gl da & & J97 HT 81

General Instructions :
() All questions are compulsory.

(i) Marks for each question are indicated against it.

(iii) Question Number 1 consists of fifteen (i-xv) objective type questions carrying
1 mark each. Candidates have to write the correct answer in their answer-
book.

(iv) Question Numbers 2 to 9 are very short answer type questions of 2 marks

each. Answer these in about 30 words each.

(v) Question Numbers 10 to 17 are short answer type questions of 3 marks

each. Answer these in about 40 words each.

(Vi) Question Numbers 18 to 20 are long answer type questions of 5 marks each.

Answer these in about 70 words each.

(vii) There is no over all choice. However, internal choice is given in all long
answer type questions of 5 marks each. You have to attempt only one of the

given choice in such questions.

229/(Set : D) P.T.O.



(4) 229/(Set :
[ TGS 999 ]

[ Objective Type Questions ]

1. () 69 W T & 999 T8 o § 7
(A) i (B) T
(C) (D) T HfdsTa
Which is independent of temperature ?
(A) Molality (B) Normality

(C) Molarity (D) Volume %

(i) WSS TR 0Fee (SHE) % fiu Rued ogele refsmd 8 :
(A) -0.5V B) +1.0V

(C) 0.0V (D) +2.0V

Standard Electrode potential for Standard Hydrogen Electrode (SHE) is :
(A) -0.5V B) +1.0V

(C) 0.0V (D) +2.0V
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(il) TH AUBEA A D g gU9 I B B Ui fEdE e @ B 3T g R 1
a) ¥ = k[a]’[B]" B) = k[a]'[B]'
© a =xlal [B]° o) & =x[a] [8)°

A reaction is first order in A and second order in B. Write the rate law

equation :
(A) Rate = K [A]?[B]! (B) Rate = k[a]'[B]
(C) Rate =k [A] [B]? D) Rate =k [a] [B]?
(iv) A6 [PH(NH3),CUNO,) | ¥ wifeaw & SuHeadSwal &1 & 7 1
(A) 4 B) 8
C) 6 (D) 2

What is the co-ordination number of platinum in [PH{NHjz),CINO,) |
compound ?

(A) 4 (B) 8

(C) 6 (D) 2
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(v) U% Wafe UhEd edgs Uraiehar § q9mar 8

.
.

(A) e (B) Sy'
(C) sn” (D) & q Fig Tl
A primary alkyl halide would prefer to undergo :
(A) Elimination (B) Syt
(C) Sy? (D) None of these

(vi) faferrae deqwer @& MM & fie S & § 7

(A) UchrRrd (B) 2
(C) UHH (D) @A

Williamson synthesis is used to prepare :

(A) Alcohol (B) Ether

(C) Amines (D) Ketones

(vii) AR CH3CH(CH3) CH,CHO® IUPAC A9

229/(Set :

IUPAC name of the compound CH3CH(CH3) CH,CHO is .............. .

(viii) 7 T & ifeRT @ geq 9 A e ¢

CeHsNH,, CoHsNH,, (CoHs),NH, NHg
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Arrange the following in decreasing order of their basic strength :

CeHsNH,, CoHsNH,, (CoHs)oNH, NHy

(ix) Fre=t oFfiel ol & @ -/ AT Ol 78T § ¢ 1
(A) T B) =
(C) TaTw= (D) TgHN

Which of the following amino acids is not optically active ?

(A) Glycine (B) Valine
(C) Alanine (D) Leucine
(x) AR @ FfE R .o 99 K =3x10"*12mol 2 s7L. 1
Order of reaction is .............. , when K =3x10"*L?mol™2 s 1.
(xi) =T THIBT & QA HIT 1
CHyCHom SO 2504 -
413K

Complete the following equation :

Conc. HySO
CH3CH,0H —21C-12°0a, ..

413K
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(i) TR Y o B A A A A 3 :

Deficiency of Vitamin 'C' causes .............. .

(xiii) INEROT &S F B 7 1

What is osmotic pressure ?

(xiv) K3[Fe (Cy04)3]% 1 IUPAC S fafayy 1

Write IUPAC name of K3[Fe (Cy04)3] Compound.

(xv) T Uchlglel 1 HElaices o § Sl & fog ugead oAfrpds & 9
EGIE 1

Name the reagent used in Oxidation of a primary alcohol to carboxylic acid.

[ iy ST U9 ]
[ Very Short Answer Type Questions ]

2. 4.6 g WA (CH3CH,0OH) % 200 g I=ii # fa@@s &l Aidqar &l T H] 2

Calculate the Molality of 4.6 g ethanol (CH3CH,OH) in 200 g of benzene.

3. gy o AR A H aRwf S 2
Define half life period and rate of reaction.
4. ggawi ud faEwi forfive & Sereeer aied @wesa) 2

Explain polydentate and bidentate ligands with example.

229/(Set : D)



(9) 229/(Set : D)
5. Sy! orffRar F1 § ? ST Aied AT B 2

What is Sy! reaction ? Explain with example.

6. THA OIE TAN T SF AN IO IORE H B F B § 7 2

Why transition metals and their many compounds act as good catalyst ?

7. AT X SISe-hoeH Ueehadhiol &l IEeVT died el HifsT| 2

Explain with example Friedel-Crafts alkylation of Methoxybenzene.

8. UINT & FT-2-37a A gRafid H 2
Convert Ethanal to But-2-enal.
9. FHSAUHM SRR WX diRr fewell e 2

Write short notes on Carbylamine reaction.
[ @Y S909 97 |

[ Short Answer Type Questions ]

10. (i) UUERE UG U@ IRERYT Hi SAeY died GRENG i) 2

Define Osmosis and Reverse Osmosis with one example of each.
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(i) STAMFI AIAX SF9N H HROT GTT 1

Give reason for Abnormal Molecular mass.

11. R & oToeae a1 Sifedida & [0 e otasr oM & aedsar © 7 3
(i) TH WA Fe3* @ Fe?'
(i) TH A znO B Zn

(ii) TF A9 cro, @ Cri?

How much charge required in Coulomb for the following reductions or
oxidations ?

(i) 1 mole of Fe3* to Fe?*

(ii)) 1 mole of ZnO to Zn

(ifi) 1 mole of Cro, to Cr>*

12. Wi &0 W NH; & A9 I e & AR 81 Ny T Hp & IAEA &l &% @
eRll, S K 99 2.5 x10 *mot LIS~ & ? 3

The decomposition of NH3 on Platinum surface is zero order reaction. What are

the rate of production of N, and Hy; if K= 2.5 x10 *mol L7157 ?
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13. @UEREY H [Fe (H,0)s] o Sgeid ¥ ol [Fe(CN)g]° g Srgsaia & ? 3

Explain why [Fe (H,0)s]°" is strongly paramagnetic whereas [Fe(CN)g]®™ is

weakly paramagnetic ?

14. CsHy,®% G9E9El Ul § € U8, ST ST TEEMe Fard=ieel 0 Il § ¢ 3

NN Y

(i) HIA TH AARIES
(ii) ¥ FHETE AHEANES
(iii) TN GHEIE AFRINES

Among the isomeric alkanes of C5H;,, identify the one that on photochemical

chlorination yields :

(i) A single monochloride

(i) Three isomeric monochlorides

(ii) Four isomeric monochlorides

15. TN & STadioM & TEHT I S @ [T q7 3een @ Sharfafy R 3

Write the three steps mechanism of hydration of ethene to yield ethanol.

16. (i) EHAN SHHES el Akl ) g fequ g 2

Write short note on Hofmann's bromamide degradation reaction.
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(i)

17. (i)
(1)

18. (i)
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(12) 229/(Set : D)
QOAfes UHAT & SEUSIEE TaY Udhicd TOHT § UId a4 § offe @l # a8

Why Diazonium salts of aromatic amines are more stable than aliphatic

amines ?

TGRS Y T I<ES §Y 1 8 7 2
What are glycosidic and peptide linkage ?
L% UMl o1 M Bl © ¢ 1

What are essential amino acids ?

[ € ST s ]

[ Long Answer Type Questions ]

0.05 mol L' HCOOH # Imhal 40 S cm2 mol ! Bl @& S 9@0
g fogeH Remie @& uReew @it @ § & x‘(’H+)=349.6sCm2 mol ™! T

M (Hcoo—) =54.6 S cm? mol ™ 3

The Molar conductivity of 0.05 mol L' HCOOH is 40 S cm? mol .
Calculate its degree of dissociation and dissociation constant. Given
X(;HJF) =349.6 S cm? mol~! and N (Hcoo-) =54.6 S cm? mol L.

D)
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(i) WO | 7 ? HAROT § sEW i AR @ e St 2

What is Corrosion ? Explain methods to prevent corrosion.
HAYAT

OR

() Cu(NO3),® e & 0.5 YRR & 4’1 & 20 fFe 7% Iga owafed Rear mm
e W AT SR @1 F@HE /& e ? (CuSd) 2

A solution of Cu(NO3), is electrolysed for 20 minutes with a current of 0.5

amperes. What is the mass of copper deposited at the cathode ? (Cu63‘5)

(i) RIS H I 1 & ? 366 TIHANT &l IaBXT Hied ATl HiFg| 3

What is Kohlrausch law ? Discuss its applications with examples.

19. (i) THAY T S 6T Al H T Fl HI & 7 ST died ATl Hig| 2

Why do transition elements exhibit tendency for complex formation, explain
with example ?

(i) FM VA B, T TRET SEHET (a) TAEES MWET (b) Fe?t faT (¢) H,oS &
AR BXaT &1 3 STbamatl 1 STafE e T fafau 3

What happens when potassium dichromate oxidise (a) Iodide ion
(b) Iron (II) solution (c) HoS ? Write ionic equations for its reaction.
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20.

@)

(i)

()

(b)

(14) 229/(Set : D)

YqT
OR

T fEEAl e & Gabid el B M1 BT, RTEes A FAis 27 2 2

Calculate Magnetic moment of a divalent ion whose atomic number is 27.

frefoiad & dev 7 Qeigs qu oRNTEs & dedl & TEET &l g B 3
(a) ST fawar

(b) RIS STaed

(c) rarEfTh AHfhasierr

Compare the chemistry of the actinoids with that of lanthanoids with
reference to :

(@) Electronic configuration
(b) Oxidation states

(c) Chemical reactivity

(i) W< HX MU H FIUFE SBGIHET o STfs F aar 8 7 1
(ii) STE-TREGHT, ST-RAfFRiGH & s orig it 2 ? 1
(i) TEPRIA B § F ST Il © 7 1
i & forg |t e 2

(i) T S99 @ CS, & 9
(i) WM T HNO; & |
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(@) (i) Explain why propanol has higher boiling point then the hydrocarbon.

(ii) Explain why ortho-nitrophenol is more acidic then ortho-methoxyphenol.
(iii) Why alcohol is less acidic then phenol ?

(b) Give the equation of the following reaction :

(i) Bromine in CS,with phenol.

(ii) Dilute HNO; with phenol.

T
OR

Pt stf¥risramett @ ot g
(a) CgHsCHycN —ddacid , ]
(b) CH3CHO + NHyOH —— ]
() CeHsCHO +CqHsCOCH 5 —%il NaOH 1
(d) CH3COOH +PCly —— ’
(€) CHsOH +CHZCOOH —H" ’

Complete the following equations :

(8) CgxHsCH,CN dil. acid
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(b) CH3CHO+NH,0OH ——

(c) CgHsCHO+CgHsCOCHg dil. NaOH

(d) CH3COOH+PCly ——

+
(€) CH3OH+CHzCOOH —21
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